= SollA A

ot

1.

H7]

— <t

1,0, —
0, =4, —(=2)% (-V3)?

: oA

ul




2. 2x-y=3%4d, V2xF+y 7t AA57t A REE= 7P AR T 2t
2t x =7

1w @ ® 16 @ 19 ® 22

B *
2x—-y=3>=>y=2x-3

V2x+y=V2x+2x-3= Vdx-3
x = A4t 7P A2 FAE 491 10 o]Folojof stE =,
T2 o AlFgE 72 oldo] Hojof ek (VAx10-3 =
\/_7>72)

LV =3=7d 1, x =13 o|B=E ZHI}.
SLox=13




ok g ol dol7k 19 A , \
o ool 42 el TS 5He A A, B ’

o #7717} A(a), B(b) 2 T

W, a+ b o S Fotolat,

AR o] gt H o] o]zt 1 o]B 2 izt 9] Aol 20|t
J¥EZ A(1 - V2), B(V2)°ltt.

.'.azl—\/ﬁ,b:\/ﬁ,a—i—b:l




4. A=V2+ V3, B=+V6- V3L, V24 - V3B 2] g2?

@ V6-3v2+5 @ V6+3V2-5
® V6-3vV2-5 @ -vV6-3V2+5
® -V6+3vV2-5

VE(VZ + V3) - VB(VB - VB) = VB-3V2+5




L o) 2nE gelsehu?

V3 -2
@ 43 +8 @ -43+8 @)-4+v3-3
@ -4V3+2 ©® -4v3-2

4(V3+2) _4\/5—}—8__4\/5_8

(V3-2)(V3+2) il




vl

6. ST EAE2A

5%
rlo

29

DO x®-x-6=(x-3)(x+2)

@ x-4=(x+2)(x-2)

@ - -2x=x(x+1)(x-2)
@ 18x* —2x =2x(3x-1) (3x + 1)

©3x2+6x+3= Bx+1)(x+2)

®3x+6x+3=3(x+1)°




@D 2x% - 5xy+3y? = (x=3y)(2x—y)
@ ma+ mb—m = m(a+ b)

® 64a® + 32ab + 4b* = (8a + 2b)?
(@)-1a? + 96* = ~(2a + 3b)(2a - 3b)
® x*-5x-6=(x—-2)(x-3)

B

@ (2x-3y)(x~y)
@ m(a+b-1)
® 4(4a + b)*

® (x+1)(x-6)




22+ Ax-3 9 35Tt x—3A uf, A 9 ZHe

sholat

2x2 + Ax—-3 = (x-3) (2x +a)
=2x>+ (a—6)x—3a
-3a=-3, .a=1
A=a—-6=-




9. (a+b+2)?—(—a+b-2)? S A5EFHH?

® 2(a+b+2) @ 4(a-b-2) ® 4a(b+1)
@ da(b+2) @) p(a+2)

B

(@a+b+2)?%-(-a+b-2)>2
={(a+b+2)+(-a+b-2)}
{la+b+2)-(-a+b-2)}
= 2h(2a + 4)

=4b(a+2)




10, x* 52 +49] 157} opd A2?

@ x-1 @ x+2 ® x+1 @ x-2 (@)x—4




